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SECTION-A
(RIS 5E=) (=
(Objective Type Questions)  10x1=10 (7) Gt
A - w8 faem grex fale _ (@) oot
Note :- Choose the correct answer. (@) 3 aFr (%) Fer ()
1. mﬂﬁwg\@mgxgg,ﬁrmwmm | Identify matrix iS @lso @ ........coceenere matrix :
B (a) Square
(&) 2x2 (b) Triangular
(@ 3x3 (c) Diagonal
(}) 2x3 : (d) Both above (a) and (c)
(@) &9 I Pig A8
If the order of a matrix A is 3x 3, what shall be order b DRSS = :
of its inverse : (31 TreifRea 98 oo 31 woar &
(a) 2x2 i
| (@ -3
(b) 3x3 '
4 t
© 2x3 | i () O
(d) None of these (¥) -13
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Solution of linear equation; 0x + 8 =5

(@) Can never be determined

(b) -3
¢ O
(d) -13

4 xpTEUAGEHE (x+1)°3-x°:

(310 3x+6
(d) 3x-=3
() 6x-3

(g 6x+3
What is the derivative wit

(x+1)23-x:

(a) 3x+86
(b) 3x-3
() 6x—3
d 6x+3

h respect to x of
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5. éﬁy'uﬁy=ar¢sincosx:

(3 -1

(@) -2°
= 1
(@ 2

Find y' if y = arc sin cos X :

(a) -1
(b) -2

() 1

dy 2
. T/ R W ToF & o & 3 @t S & ¢
(3) Borw bawex

(¥ Romcie

(@) Rror< iy
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Solution of linear equation; 0x +8=5: 5. @Y 4k y = arc sin Cos X :
(a) Can never be determined - 1
o (31 -
o o (@ -2
(d) -3 o
(@ 2

4 xBISUA IO TE (X+1)°3-x:
( ) i Findy' if y = arc sin cos X :

(3) 3x+6 @ -1
(@ 3x-3 () -2
(M) 6x-3 [ ¥, © 1
(g 6x+3 R ! (dy 2
i ivati ith ct to x of
What Is th_e derwauv.e with respe 6. B W el T
(x+1°3-x%:
(@1 fEwpEw baex
(a) 3x+6
(@) for< e
(b) 3x-3
© 6x-3 () 1%‘@313:5'&@
(@ 6x+3 A

[P.T.O
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The rate at which the calculations are made is

called :

(a) Discount factor
(b) Discount rate
(c) Discount value

(d) None of these

7. [ESIG B AN BT S e #
(37) wicezamn #
@ ferRgmd
(W) ¥rg oRad= §
(@ Weg wnHar §
Index numbers can be used for :
(a) Forecasting
(b) Fixed prices
(c) Different prices

(d) Constant prices

8.
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Wﬁmmmﬁmﬁmé=
(3 3m
(@ 2m

() 4.2m

@ T DL e

Standard deviation of a Poisson distribution is :
(@ 3m

(b) 2m

(c) 42m

(d) None of these

............. fad w0 I Juant & 519 g Aneat & wer
B UM A R -

(37) SR wMea

(@) iR e

(@) wika s mea

@ F & B T
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oo . IS particularly useful when we have to
compute the mean of means :

(a) Arithmetic mean
(b) Geometric mean
(c) Weighted arithmetic mean

(d) None of these

. 57a Ul TX @1 3M1gh [euT 31eads & ded gl & ar
. S faaror @1 T @
(3 dRee
(@) gPimataee
(7w adRee
@ I TR
When frequency distribution of single variable is
under study itis called .................. distribution :
(@) Variate

(b) Univariate
(c) Bivariate

(d) None of these
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SECTION-B
(o1g Ieia 5 )
(Short Answer Type Questions) 4x5=20

A~ 52 ar vl @ g7 SR

Note :— Attempt any four questions.

1.

g (Hfeew) @ akefia SifeR s (@Aigew) &
UHR @ AT Do |

Define the term Matrix. Describe the types of
matrix.

HIETRUT 151 U9 Uphdis &nal H 3R sargd |

‘State the difference between simple interest and

compound interest.

313N 7 4 Gt el 1080 W9 HfcT ot F X F wRid
3R 3 80 TUA ufd &l & R ¥ 99 &) wfcrera amw
a1 g1 s it |

Ajit purchased 4 dozen chairs @ Rs. 1080 per
dozen and he sold them @ Rs. 80 per chair. Find
percent profit and loss.

frter 3k Ter STl % & s W AR

Differentiate between absolute and relative
measures of dispersion.

[P.T.O.
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5. Pl e § men 60 BA BRI IR 36

™
TGS Bl @i\ (f)
10 = 20 B
20 - 30 12
30 - 40 20
40 — 50 10
50 — 60 7 i
60 - 70 3
uaw Seea & e SE)

The following table gives marks secured by 60

students of a class.

Marks No, of students (f)
19 - 20 2
20 - %0 12
50 - 49 20
49 - 59 30
56 -~ 60 7
80 - 79 3
T et the stancad deyiton,
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Waﬁqﬁnﬁﬁaﬁﬁﬂlwﬁmai
e | Tal i

Define correlation. Discuss the significance of the
concept of correlation.
|ug ‘|
SECTION-C

(& Ferra o)
(Long Answer Type Questions) 3x10=30

iz - Tl A uwEl @ ' Bioral
Note :— Attempt any three questions.

X3 + Y3 + 3 axy @1 UEAT AY1 AN HY SawEst w
Hifsman

Find the first and second order partial derivatives of
X424+ 3axy.

12,620 370 1 v %1 3 At i g gerd 7l

# Toradt ween 4357 w1 s o drad @ ve i 21

oz Al 2 w3 10, afite 3 @ A ok v Af5)

A loan of Re, 12,820 is to repaid by 3 annual
payments, the first being half of the second and
one-third of the third, If the interest be 10% per
annum payable annually, find the three
instaliments,

[P.T.O.
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3. %?é‘itri‘r&ﬂﬁ%aﬁé’:zﬁasmﬁimaﬂﬁmmm%
%mﬁzs%qi‘ramﬁso%sﬁmsamm%ﬁ&nﬁm@r

&Y 3® W B &) fra=or @1 TR e qen
e s 5=

RO e
21
.23

27
.29

For
For
For

For

AreaZ = 56
Area Z = 61
AreaZ = .74
Area Z = .81

The distribution of marks in a certain examination

‘was normal with 23% of candidates scoring above

60 and 21% below 40. Find mean and standard

deviation.

For table :

For

.21

For .23

For

For

27
.29

AreaZ = 56
AreaZ = .61
AreaZ= .7{.
Area Z = .81
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4. P it R A ST RO e SR
- dfad g gfey & g

18 14 o

19 16

20 wdmun ksbni eezd-A605

21 18

22 g

23 19,

24 20

25 20°

26 21

27 21

Obtain the two re
following data :

gression equations for the

ko |

Age of Husband Age of Wife
18 14
19 16
20 16
21 18
22 18
23 © 19
24 20
25 20
26 21
P 21
[P.T.O.
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5. Prefiiea w wfia Ruftrdf fofed :
Wnte short notes on the following :
(31) T HUR DD
Cham base lndex number
(@) 3R aé aRad
Base year shifting
(|) e a1 faRieeE
Splicing
o Chy S qng
| ) Deflating



